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| highly interconnecteq and inge
e live 1m 4 -rdﬁh
Wi . !'_‘nr
passage !

".‘nt e : Vhat (JG'EH thi-‘-‘- ph!‘FlFir- Me -
| \ected World’. V - oAl in the
LA (a) We are now more coni and dependﬁnt
T it R - ‘
o transport have be Up, :
(b) The means of e 6 r“"ﬁ‘tur o “ach other for our survival
e J We have become dependent on Othe,. E”UHL
e (c : Tlgg,
) an d) We are facing challengesg from glnba]f?atf -
s ( Hop
’
. aqhe world’s life-supporting “eS0urces A beihg q
obal : in the passage ? S Qe ,
: ﬂlfs phrﬂse mean | 'E-ted at a fElEter rate than ever bEfGrE! W}lat dDES
(a) Today we are facing an acyte Shﬂrtﬂge of' f;
D{}d
to (b) Medical health systems 4y ed terlﬁratjn o Pr Oducts
al
(c0 The natural resources Hecessary + SUsty; | q fagy PACS
e ' 1‘
) (d Human life is becoming more dq o dent A tfe re reducing drastlcally
J

_ ® Support of technolngy
ire in differe
I‘Id t

T ? face the challenges of the 215t Century
“Teign ountries
ay

‘€ of global citizenship’ because -

% parts of the world
(c) People believe that there jg
c

d -ﬁlture
po (d) People will cooperate With each

Other to g
ons : In the following fipe It

ol TONS .

Dhirec

or 10 sentence. Select the most
ajsléer

= € themselves from natyra] disasters
: €ne
PProprig;,, optio, eh
dingly.
Sﬁggt accor .
Answer

L

U a dlank SPace and four options have been Siven
for the blank *Pace and indicqte YOUr response on, the

or 1S better than tw, in
(a) in hand

9. Human history is amp]e Proof . ambj‘ tion
(a) knows (b)  keeps

. Good history presents severa] PeTspectives o, a
an integrated who]e.

(@)  be made (b) (e (d)
-U-GAT




’fﬂ‘ fff f}; .
| 4 /}J;’ ﬂ””” r Ive ;fgfﬂﬁ. Cac/ 7
(G'), ((IJ) G’ﬂ' rp) ‘}?1 Ik f- / j !"f)} /H"f (7 S'Pf?)‘{gﬁc. E-ﬂff/}, f}j‘f‘PP Uf?d#" /; 7 /. 7 7
fﬂﬂpﬂn Se o, l/ g B o “ehtence anc § ) @n, erroy in 1 Hined ﬂgr_d . Cied
or & “1”3!&'{*!‘ Sheey @gainst the C'D!‘rf?.ﬁ?)ﬂﬁdf-n p L “nderline Part, andg ‘ndicas,
Dong S}-"szf(f b -'det:‘ﬂ'fed as (g) Sy ‘EJJE*’} te. (a) (6) o (c), f vou, /1
Ramesh likeq his friengre music player-

= to},

.
il 2 » Vr
E Own. No €rror
(b) N
Giv

C
(d)
€n the complex Of the Problem the Cﬂfnm_ftt@e IS not expected
\(‘3) *
UTiva at g decfsion any time soon.

=
= dren In the TOom RN error
\fli\ked eif I w uld b_e Interested in S{lghing U ag, Membey , the group. N, error
(a) W (e) (d)
In the fﬂﬂﬂfﬂfng five tlems, each e Sists / Sentences of a Passqge The first and sixyp,
Elven oz Zhe 6egmnmg as S1 and 56 he Jouy Senlences j, betweey, S71 ang S6 in each
e beey, JUmbley Up and labelled as £ Q, 2 Qnd S ouU qre "eQuired ., ind the Propey SeqQuence
%7 the fo, Sentenceg QG mark yoys "esponse accorq;,, % on ¢ e Ansyer Sheey
16. g . Geulogcal Mapping When Properly done Ieﬂlﬁnds SKill ang judgment
S6 : Nothing IS more Raive thanp ¢, believe th fie] 8eologist shsu]d gather only facts’, the
intemretation of which 1S to be made at a late,. dat
While the fig]g work Progresses he shou]q “Oncejyeq as
With the known fact
Q: As the fig] work p




- o ’ p{jﬂtﬁ
- Unacel : welop. 'Ara s,
17 i and tﬂlﬂf:-rrﬂphs did cevelop M““'h ag waySs pﬂrt
i at ’ : Ao '
S6 There always remained an acute Shﬂrtagﬂ Z itgﬁgﬂihk e people *h out to the TV
; - a
P. Juring the rainy season 1]]_%(: 15 re ~dern
url e Tnd ather roa FHt for ™
QRontAECOEEEe S iy 0 the 4, |o were 1O
: Ve ' e
traﬂspﬂrt nt of Brltlgh ru V‘]_de baSIC

: S d
R " evelo
Varjoy, Cpme

g: The roads that were built primarily Servegq " 0
' e

and drawing out raw materials from t}
PQSR
() SPQR (b) PQ

185 #S1: Contemporary history is necessary, byt it i o 4
" gg: Some portentous events can be seen to be . o8t 5 tentative
discovery of the New World; others of compg, ° fropy ¢he mome”

v _ :
P : The relevance of the issue of proportion jq ) a. l& 1y g mentoS>
Q : It possesses, indeed, a massive supply of Uicant.

knowledge of politicians’ minds, of p]anRErS’Dubljc record, b " ists’ discov oyios:
break-throughs. SERRIR ,- o prDDUsaJs, of scié
R : It also lacks perspective since it is bereft o ¢
: q on cance O
S : It is impossible, over just a few years of o eSenS.e of PrOPT;]_::l s qccurately the signifi
various events. ... . " Vatiop, to estl

the prosperous in such countries. |
Q : The effective tax rai_:es*a_.;fe‘n.op really Progressive with regard to income. i A
R : They need to be reengineered to bring int, the téx net the enormous sums of ‘missing 1ncome.
S : They are even less so with regard to wealth:

0. S1: The history of English literature 1S usually divided into different periods.

56 : This is the real danger of periodization, which tends to give the impression of distinct
categories where there are none.

P : However there are Important discontinuijtieg to be kept in mind.
Q : Each period has unique features that

Produce certain family resemblances between the writers
of a particular period.

R: Schola;'s often sPecianze In periods such as

: Medieval, Renaissance, Romantic, Victorian, and
Modern literature.

within a period.

(a) PQRS (b) RQPS | (c) PSQR
U-GAT '
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{ %} (Tnnﬂdp the following ﬁhnUL
o 31- -
E:,il DN/ e o furs t7 Deoxyribonucleic Acid.
X .
1. 14 is located in the ribosomes.
2. ’ : .
By 1t is composed of Ribonucleic Acid.
3. .
I 4 Itcan make a copy of litself.
which of the statements given above ig/y,.,
q Cﬂrrect ?
|
(c) 4only
(d 2and3
39, Velamen, a spongy tissue, 1s formed in :
(a) Tap root
(b) Epiphytic root
(¢) Fibrous root
(d) Respiratory root
33. Which one of the following statements is 7z
correct ?
(a) Hydrogen ions cannot exist alone.
(b): All compounds containing hydrogen are
acidic. S
(c) Separation of H' ions from H(Q)
molecules cannot occur in the absence of
water.
(d) - V[l;at;r soluble bases are known as
alkalis.
4. V-Vhlch on? .of the following elements has the
highest boiling point ?
(a) Lithium
*(b)  Sodium
(¢) Potassium
(d) Rubidium
R-U-GAT

statements

(9-B)

36,

nts regarding

1 tateme
llowing S e

f retired judges at sitting
are correct ?

Which of the fo

the attendance © Ju
thz ;upreme Court of India is/

1 Article 128 permits the attendance Ef
| retired judges at the sittings of the

Supreme Court. |
:of Justice of India may at any

has held office

Court or of 2

dee of the Supreme
as a Judge 0 e

High Court to sit and act as a

the Supreme Court.
The Chief Justice of India may at any

time, with the previous consent of the

President of India, request any pers-on
who has held the office of Chief Justice

of a High Court to sit and act as a Judge

of the Supreme Court.

The Chief Justice of India may at any
time, with the previous consent of the
President of India, request any person
who has held the office of a Judge of the
Supreme Court to sit and act as a Judge

of the Supreme Court.

Select the correct answer using the code given
below :

(a) land4
(b) 1and3
(c) 2and4
(d) 4 only



cept under suspension if

There is any act prEjUdiCiﬂl to the

1 of @ ggoperﬂtlve society can be
" _

ensional Poverty Index

nt
{nited Nations Developme

Sramme is 8 P€2%"
4 interest of the co-operative society ¢ its 1 N baition
members. | b
g The body has failed to conduct electiop, 2 Cooking fu
‘ in accordance with the pI‘OViSiOHS of the 3, Assets
Stale et 4 School attendance T
SRNTheresisinosGoyernment Sharehﬂldings Select the correct answer using the code g1
or loan or financial assistance g St b c
guarantee by the Government. elow

Select the correct answer using the code given

below :
(a) 1 and 2 0111}7

(b) 1 and 3 only
(¢c) 3and4only
(d)aerl2'and’3

38. Which of the following statements Tegardmg
the Member of Parliament Loca] Areg
Development Scheme are correct ?

1. The nodal ministry for the scheme is
Ministry of Statistics
Implementation.

the
aﬂd Programme

2.  Funds released under the scheme 5.,
non-lapsable.

3.  The role of the Member of Parliament i
limited to recommending works.

(C) 2’ 3 Hﬂ-d 4 Oﬂ.ly

(d) 1and4only

“0. Which one of the following was not
recommended by the Dinesh (Goswami

Committee (1990) ?

The appointment of the Chief Election
Commissioner should be made by the
President of India in consultation with
the Chief Justice of India and the
Leader of the Opposition.

(a)

members of Election

(b) The the
Commission should be appointed by the
President of India on the advice of a
Committee, consisting of the Prime

Minister and the of the

Leader
Opposition.

(c)

The consultation process should have a

statutory backing.

' State
from which the Member of Parliament
1s elected (Lok Sabha). However a9

Member of Parliament from Rajya
Sabha can recommend works anywhere
in the country.

>elect the correct answer using the code given

elow :

) 1and4 only

1, 2 and 3 only
2, 3 and 4 only
1,2, 3 and 4

(d) The appointment of the other Election
Commissioners should be made in

consultation with the Chief Election

Commissioner, the Chief Justice of

:AT (11—:8)

India and the Leader of the Opposition.



jRUKT 5 Ty

which or

& | Ty ' rotocol 7

s (n) TLS
() SSL
(©) IPsec

I e § f

Tl B re |

/ 42 raTeX document does not contain -

(a)
(b)
/ (c)
(d)

\documentclass (article)
\begin{document)

\end{document}

\ducumentstyle{article}

43. The decimal equivalent of ( '1101)2 is -
(a) 08122
|~ ® 08123
© 08124
' d 08125

Relative referencing

(b) Real-

(c)

time ref‘erencing
Absolute referep cing

(d)  Mixed referencing

fo a single executap]e program 9

(@) Interpreter
(b)

(c)
(d)

Compiler
Linkey

Loader

YR-U-GAT

e of the following is nof SECun'ty

i 3 it 110V
Ay el as 100 W a 10
/ r't;“ Inﬂaﬂdem:ent bulb l’ﬂq‘t;if ower supply. The
o 2s + ould be ;
o in the bulb w
(a) “T that dissipates
Y
(o
(d) 200 W
' 400w
If

; ' wire is
a current LaI‘I_'meg |
halihz I?ngtg ;iren potential difference, the
E ) ﬂr - -

eul‘rEnt in the wire would :

(a) bE dﬂubIEd

(b) be halved
(e) remain unchanged

(d) become Zero

Of’.}’stals of copper sulphate pentahydrate, on
heating, form :

() plue colour salt
(b)  white colour salt

(c) green colour salt
(d)

47

48

brown colour salt

49, Tartaric acid is found in -

(@)  Tamarind
(b)  Tomato

foﬂowing 1S

ndig ?

National Human Rights

(b)  National Co
Tribes

mmission

(c)




g9y 3 | v
¥ oy, B et of the Dollowing tis/are elemep,,
ﬁ?ﬁ?ﬁ &i N 5 ndia’s ‘Panchamrit’ view gp cl; of | &5,
\ I 2 mat{j h' d.
* a8 e ! I : statements regarding
&l ?fé 2 Q, change the h of the fﬂ]IOWfﬂg ~abinet, for which the

o7 | 1 India will reach its non-fossi] . ? (BIS) has
’ . n e : Standards
T & g:g? | capacity of 500 GW by 2030 gy rf_.%n"zu of Indlﬂg -n Indian Standard

(I, Uy develope ?
. PG AR WILEBIECTRO0% Sof « ity 1, 7693 : 2022), is/are cor::;géeratﬂr o
- Hag )%% requirements from renewabje enernerg}r It. 18 ']a ;ﬂt::{)re vegetables, fruits,
%B:, i i 2 ﬁllﬁrlfidyalm for cooling water.
gﬁq gelect the correct answer using th ' Thig standard helps B:'[S 11l fulﬁ]}mg <
| . € code given, out of 17 United Nations Sustainable
I{IF helow : ' DEVEIﬂPment Goals. - 5 q .
(a) 1only b?ect the correct answer using L€ cocde given
! DW .
fl (BN @) 1 only
: (¢) Both1and2 ((h) 2 only
SE=) o5 " (d) Neither 1 nor 2 (CJ Both 1 and 2
/ - 56 d)  Neither 1 nor 2
) g} ,-'J 53, What are the prerequisites o, ' W]lich of the following facilities are to be
e | e lAs 2 Sohesy aring 5. Proyided by the contractor to Inter-State
| eduled Areg’ under th, o L Migrant workers in connection with the work
ST / - Scheduleofthe Constitution of Inqj p | O an establishment to which the
1 Preponderance of Tribal P | éﬁter-State RS Wtfr}fmen (Reg'u%ation =
Pl / Opulatjop, mployment and Conditions of Service) Act,
2 Compactness and reasonable g; 1979 is applicable ?
| I
| area | € of the l._« Equal pay for equal work irrespective of
| 3. Economic b o ’
C backwardnegs of the ares 2. Provision for suitable residential
4.  The notification must be ; accommodation
1 . = ’
/ Goverior ol \ W SSued by ¢ 3 3. Provision for protective clothing
| I'ned State 4. Provision for old age benefit schem
/ Select the correct angy : 5 s : = .
j o €r using the o S'1 escribed medical facilities
| elow 81 elect : .
S en = :; the correct answer using the code given
a and 4 on] :
e (@) 2,8and5 only
(b) 1,2 and 3 on] (b) 2,4 and 5
Y only
(¢) 1and3 only s (€)' '1,2,8and5

the absence of
'4S  separate( of any authentic doey
((jeﬂe;ﬂ “dget owing ¢ - i ;Eiifﬁlestjv thh one of the e?glfotllz :
4 buti or a
. Istributive Conventjon of 1925 Adolescent Labi‘iiilﬂll lggdegj t}}e. Child ang
(c) iy Convention of 1924 (R ?gulation) Act, 1986 ? s bition and
¢/ Bifurcation of Estim, a) The Prescrih :
St ed Med :
@ Equalisin ‘mates of 1924 (b)" " The Labour Coyyt cal Authority
g Convention of 1925 +(¢)  The Inspector appoint
R"U"GAT | (d) The Appropn nted under the Act



1778 & <
d ! the provisi
pnder provisions of th ‘
< / 5 1948, which one of the fnllo:if ;CtOI'IES ot
; W relating to the appointment of Stateme,,,’ | 6
}'{ﬁ‘ . / ; : the Chas: Nty 1,
SURC IS ¥ 3 of the Site Appraisal Committee ig Armg Wh;
IEE? ;" (a) Lﬂb?ur Commissioner of the ;EITEQt ? - In f_leh one of the following was not provided
3 a‘% ;'r ChHlI'IﬂH.Il ate 18 the (a' he Regulatlﬂg Act of 1773 7
m / % tﬁ g}lld:ipmendent Person is appoj ' It made the Presidency of Bengal
F ) e Labour Ministe S supreme o, bt war anc
N st r of the Stat ) adras in ma and
‘I.E‘Ill GCC].'O airman. e 18 the (b peace.
(d) Che- hief Inspector of the St ) The tenure of the Governor-General and
stk | ate js the o his Councillors was fixed as five years.
-9, Match List I with List IT and ) The Supreme COUNEEURRL tstice Wels
answer using the code give select the m ( established at Calcutta.
T n below the Lisirect Q) The Gﬂvemﬂr—General-iﬂ-Cﬂuncil was
Drot ision) List IT S ! authorized to appoint successors to
A. Displacement 1 Acy) 62, Bombay and Madras Presidencies.
Allowance : '1‘19111& Factorieg Act Which one of the following statements about
B. Certifying 48 ’ the Government of India Act of 1935 ‘
Surgeon 2. The Minimupn, "% Correct 7 R
C. Halfmont Act, 1948 ages (a) It wa
oty 5. T s i B e S o T
(Lé:i;ljﬂtlwork;en (b) It provided for the establishment of
Emplojion y All India Federation. g
~wment ( '
. fondlflﬂns ofgreld : y éi;cr2$;ilyne? S the.s QUL RO L
D. Piece work 4. TI::: EI’EZQ] i of India. of State over the Government
P10 B -2 x
Com yees (d) It introd
pensat;j oduced th . s _
Code . 1923 Satlon Act, e Alltﬂﬂ()my SARIOVISION of P rovincial
M 1 3 | N
A B *  Match List I with Li
ist 11
(a) 2 1 C D answer using the code givaildbsiilect the correct
(b) 3 1 4 3 List] = elow the Lists :
) 2 4 =4 9 (Congress (;,St L
(d) 3 4 ! 3 A S regeng
1 e : fahore Session, 1. Mad
60. Under the provis | 909 ok an Mohan
. 10n - avil
DISPHtBS Act_, 194 S of the Ind B. CEJCutta SESSiOIl 2.-MR 5
I‘EpI'ESEIltaﬁon bef: 71 r]ght uStI’la] 1911 M aghunath
Industrial Tri ore a Laboyr of  Je al Narasinha
= I 1ribuna] o bour  Coypt J Mudholk
buﬂ&I 1S : Natlﬂnal I s Or C BankiPOre olxar
(a) Ast Ddustrig] Sessi 3. Bishan N
S &tut[)ry ri gh ¢ 101, 1912 D n arayan
(b)  Not at all pe S D. Madras Sess;i ar
( P r.[]]_]SSlbl SIOI]_’ 4 B
¢) Can be s 1914 - Shupendra N
t,h perﬂ]]tted b BO ath
other party doe V the forum i Code : se
(d Py S 10t object op gy A
) May be ! s1ves ( B C
: permit : a) 1 D
1S granted b 1 tEd ]f SuCh (b 3 2
St&te /Ul'lio Y the ngh Copel' mission ) 1 2 4
n Temtﬂry urt of the (c) 4 x 3 4
| @ 4 : 2 1
1




AT Ry |
.'{Ffﬁ i Ld gﬁ-q _ R ff 1o among the followin
' A Milit 8 start
/ Wa thnsniﬂ ilitary School at Naghjlc 9 ed the |
2577/ ) v.D. Savarkar : 68
' \)
e ﬁ?ﬁﬁ? ) M.R. Jayakar I Ir'lt(.
ﬁﬁw g;afhf)\ [b NC Kelkar ﬂngw JT-A*lst-, I with List 1I and gelect the C:GTTE{:t
y 4946 (c) _ Sr using the code given below the Lists :
;ﬁ Wﬁﬁ"ﬂ?ﬁ d) B.S. Moonje LE‘S{ 7 cot IT
Provis; i lation)
e;ﬁﬁ'qq’ yrrange tgle following even: A Re isiorn) (Legista mn- 3
6 with Pandit Madan Mohsa > assogj 0 fcﬂ‘-’e 1.0 The Industrial
By _pronological order, starting MI:; Ma] avjyaat_ed ficer Employment (Standing
Sk " Founding of th h the eqyq;, , 10 R Orders) Act, 1946
ﬁﬁ?m: " University ¢ Banarys H.St: Compulsory 2. The Minimuim Wages
Formation of t Ady C fASurance Act, 1948
he Collgr ' Sch dul
Party €ss Natj, B eduled 3. The Payment of
5 Founding of the En Yl D, g Grat e
Leader’ glish newspape Al'—;};;istence 4. The Employees’
4 Founding of th _ L T-h BRIcs PI:OVidEI]t Fund and
= Aﬂahgb e Hindu Bog,. . Miscellaneous
abad ding Ho - Provisions Act, 1952
Gelect the correct ans Use ode ;
below : g Sing t)
€ Code o A B C D
(a) 3-4-1-2 ve @) 4 3 5
() 4-3-1-2 (b) 4 9 ; i
(c) 4-3-2-1 fe) ] 2 3
@ 34-2-1 '@ 1 ; 2
N - 4
¢6. An employee shall he ’ sk alﬂldult ;mrker wholt hastToined  on
provisions of the Pa Vere uary, 2022 in a fact
should the employeey]:;ellt of W, gesu;der the 2220 days during the year h{;zyband worked for
monthly wage of : = ‘Bving mCt’ 1936 y5 days as per Standing Ord °% Ao for
' ) ear ers d
'(3) Rupees ﬁ_&e aleum How many days of 1 uring the
en thOUSand shall he be entitled t eave with wages
(b) Rupees eighteen th, year 2023 ? 0 during the calendar
() Rupees twenty-on, tI‘llsand (a) Nil
(d) Rupees twenty-f, Ousand (b) 10
i our thousang ) 12
) mumum rate of rem,, * d) 11
e applied to Deratio .
an emp n wh 70
work for the purpae. ~cC Worki Ich shqy | ™+ 45 per th
empl .p TPose of g on p; E € Provisions
ployees a minimym Securing +, Plece mployment (Stand; of the Indu
Work basis under th, I‘a)§e of wages . Such standing order 18 Orders) Act e
1946 1s known as ) Mlnimum WOH A Ume after the exp S shall come into i S
- d O
(b) A I piece r ate Appellate Auth Copies of the 03; from the
() A minj fate € trade uniong 9 0 the emp)
@) Aguara i 2le (b) ik
nteed piece 2 Ten days
U (¢)  Fift
AT 1 (d °€n days
) Thirty g
aAys

(19-_5)



[ow many members are to be nominated by |
Ho¥

7 the GARLIaLEOVETImOnbSto Sthe . N ationg] . W following statements
 I7-9T T th v.Boardias perithe Brov: s ik =
Yy gocial Security B p Provisiong ¢ : one B and
he Unorganised Workers’ Social Secuﬁt}’ Act ey the Employ€es ] 52, is not
. 8
)%P (ﬂ) ElghtEEI] 2‘._; LDpFEEt :
| 1 heme
) Twenty im0 *(a) It makes provision for pension sc
q7 Eﬁﬁ?r S () Twenty-six m - et
Ed) Thirty-four O including family pé

which one of the following Schemes
not a Social Security Scheme undey

1S

th
Unorganised Workers® Social Secm-jty Acte (¢)  7The provisions of the Act shall not be
2008 ? , applicable  to Cooperative Societies
(a) National Family Benefit Scheme employing fifty or more persons working
« (D) SaEslee Sia Yojans without the aid of power.
Employees’ Pension Sch
% ; : e (d) The contribution by the employer to the
(d) Rashtriya Swasthya Bim, Yojana : _
Fund shall be on the basis of the basic
Which one of the following uthoritje, ~_ wage, dearness allowance and retaining
constituted by the Centrg] GUV@I"Hment allowance (if any) of the employee.
shall be the Appeﬂéte Auﬂlority under ¢,
- Employees’ Provident Fund 3
Miscellaneous Provisiong Act, 1952 9 76.

(a) Employees Provident
Tribunal

(b) National Tribuna]

(c) Labour Appellate Tribyp,1
(d) Industrial Tribuna]

Funds Appellate

In a desert, X and Y are two spots that are
separated by 100 km. At point X, are placed
two pillars, one black and one white. Along

the line joining X and Y, a white pillar is

placed for every 180 m and a black pillar is

black and white pillars together
while traveling from XtoY?

(21-B)

(a) 14
(b) 15
() 16

(417



15 secon ds to

travelling at

R, S, T and U are six friends. Whicp, of |
B @ % . I;I’FQ}“HHG“"I'”g fs/i_re sufficient to Compgpg
Ly dT:
T T R peights of S an |
o 15 @%ﬁ ;R is shorter than P but taller than othey
' ﬁ-]'eﬂds.

U is taller than Q but shorter than
although Q is not the shortest a

2

below - .
1 alone is sufficient

92 glone is sufficient
Both 1 and 2 are not sufficient

1 and 2 together are sufficjent

each other. Where does H sit ?
(a) Adjacent to D
(h) Adjacent to A
(¢) Adjacent to F
(d) Adjacent to G

15 and 6 days, réspectively.
work together, in how many
finish the job ?
(a) 2days
(b) 3days
(c) 4days
(d) 5days

If all of the‘n;
days wi]j they

80. A dice is thrown two times.

ways that the numpbery appe
throw is not less than

mﬂng

gelect the correct answer using the code given

alung o] track. What is the speed of
the Iun;ii:lii:, in km per hou~ :

Y

(b)

(e)

(d)

102
98

96

2 There is a water tank in the form of a

Tectangular parallelepiped of height 1-1 m
and g square base of side 2 m. If a full tank of

Water is drained out completely in a long pipe
Of circular cross-sectional area of radius 1 cm,
What should be the minimum length of the
Pipe, in km, to hold the entire water in it ?
(f;ie n = 22/7)

(2) pl2

(b). .13
(c) 14
d 15

A person buys ten pens and eight pencils for

X 200. Price of each pen is Same and price of
each pencil i

five pens and twenty-four pencils of same

types using the same ammount, then what g

| that on the second the price of each Pén in rupees ?
throw is :
i (a) T 16
(b) 20 (D) 15
© 21 ) T14
() 36
| @ =13
-U-GAT

(23-B)
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correct explanation for statement I

: g
SR In Indfa, 0911(; . Hlntﬂm
= inflation tal‘ge ;‘ a{ GﬂvG “hgg
3@5 EW Bﬂllk of Ind_ ’ 11’] 0 I‘flme
s | Index o N In OI}SUI- 1t q
0 in ﬁve tel‘ma tat]on Qt’ﬁf‘rh. fj;}
Statemer, Yeq Of ~ Wit I”f-'._ Sl
17 . Ts, Qpmth R C, nts :
Fgie § At Present ngufh i iy lowing stater®
Wﬁqﬂ'm Tinls ? the i er *S}wn °T the follo
Iﬂ 14 18 UpErat -I]eta ..-\ -_;}}Enf 7 yeezes glﬂhal
1 €d b I‘_};P Ve Dollar s9
WCh of the f yoen DI‘iC . {_r& .r}' strong UuS
a" # 55_?7-97 the aboVe St Ullowjn tl‘al UJ’ fl‘ah] A -S} d”’
d ' |
(H) B t tements f‘]S CDIT Vernme ?U”_{ 1\1‘ QJE’??EHI IT - aﬂiES ﬂutSIdE
Oth StatEm : Cet in : ot A an}, countries and cOMP
?' 3#( | COITE(;'t and €nt a ESDF)Q : rﬂ@ﬁca borrow in Dollars. ! oct of
'; €xpl . Stat q S : ] :he is correct 11 Ie€SP
f anat,wn £ elnent Itatefn the Ch of the following i
: r : e : ts ?
- o f (b) Both Stﬁt&m Stateme I Ig t]]nt 1 i Above statements . T e
-’ ' COrrect eng I at 1 = Cop,, Both statement I an o N T
Ang ang ST tement II is the
: con'ect tate Stat t correct and state
°Xp] at; m@nt emﬁnt explanation for statement I
(c) Stateme lon fo I IS I a (h tatement are
e ng is r Stat ngp “te ) Both statement I and sta _ n
/ &) mCOrI-eCt Corre t b ementI 'he correct and statement II is nof the
| Ut
| (@) tatemen

(CJ Statement I is correct but statement 1l
1s incorrect

(d) Statement I is incorrect but statement

Stm‘ement 7 Owlng Statemellt,g II is correct
u Iﬂdia, the RTG Consider the following statements :
Systems gra Wheq and NEFT Statemert IE
Payment Cgrpo ati, an OPer, ted | paylhent The Government of India mandateé t]?e
Statemeny 7 - I Indla. Y Naﬁﬂﬂa} packaging f:rf 100% sugar and food grains in
ohal Pament diversified jute bags.

Statement I :

The Government of India enacted the Jute

Packaging Materials (Compulsory Use in
Packing Commodities) Act, 1987.

ent’J . Which of the following is correct in respect of
Correct g, s n St&t&ment I the above statements ?
XPIa.natlon for st 0t 17 ;o the carrare (a)  Both statement I and statement II are
(b)  Both Stateme gie ent I =L correct and statement II is the correct
oo oy N and St&temen - _ explanation for statement I
Correct gy St‘jate SHLE TTe no¢ g (b)  Both statement I and statement IT are
) St&tementp tion for statement I . correct and statement II i not the
e IS correct ut Statem correct explanation for statement [
RS : il (¢)  Statement I is correct but statement T
| €ment I S IHCOITect b 1S incorrect
IT js Correct ut St&temth d St
atement I is incorrect but statement
AT ] IT is correct
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0 De "J.h.:; 1 C omestic i ) £
(d) WUr]d Bankpment Ba‘:lgnrpﬁr 1) N talked about in the context O
at; . .
‘Ila-rg-e Langua tl[jn ,rll_lll rrlr}h__ll r\ﬂtl-B"l‘E E‘I‘ﬂ":lﬂn RL’.I.].E'-._
in news &€ Mo A dering
sy Lo d , (. Fow , l - Laun
following » " be HEIS » Sop, 4 Vention of Money
1. Creahg = In Etlmeg lq,  Sulation of Crypto-currency
n : Wh; _ i ey
| i’ﬁ‘ﬁ? 2. Health Ca:frelm gin hl&h E;’:hh&d 9 L‘rtual Digital Asset Transaction
fﬁﬁﬂ 2 SO&W&I‘& d 5 = Search the | W
e . e
4. %aHSIEItﬁ] VEIﬂpﬂlent En‘g]l'leg dr;;lch one of the following statements best
fﬂm’ Select the Co = Iallgua iy “Tibes the term ‘Prowessy, sometimes seen
below : =C aﬂswﬁr ug? ey, ’;
) 1 Sin (4 |
7 (;) 1 an 3 Oﬂly s thE Cnde J A special-purpose supercomputer with a
r (i ) 2, and 4 On]y gh"@n hardware architecture dedicated to a
4 B and 4 on] single problem
and 4 A database of the financial performance
' With ref&ren of companies that is specially designed
EmiSSfOﬂS ﬁ‘ﬂ; 0 the thre for academia
- . e -
RLoFing p ars CDInpanl-eS tYpes of () A computing machine that uses the
, ) : r i :
EI?ZIS.Q;‘GR e con'slder- ?En properties of quantum physics to store
| 1L S COpe 1 : E‘xa?np[e 3 data and perform computation
: emission © “Injggg | :
_. = emPIOyZHS as 4 - (d) A database in which collection and
e e : -
.J busjneSS ¢ CO] Sult of storing of data i1s done on user’s system
| 2. SCOPE 2 -gr GdUCEd fave] ang :)tlﬂgj and this 1s basically designed for a
lf emissiong mJSSfonS a B single user
S
| Sto, 28%e o & Tesug of
. eal'll, hﬁ‘atin elE‘Ctrjeity 100 ‘ . ’ - :
3 Scope 3 B T own use & and cooliy, = + ‘NSE Prime’, sometimes mentioned in news,
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COnsumegq bﬁ'om fize)
. vehi V S :
Which of the Lo blcles, OWney] andclompany (a) Ah:lgh standard corporate governance
matched ? Ve Dpajrg s €ased mitiative
(@) 1and 9 €ctly (b) Long-duration Sovereign Green Bonds
b) 20 . :
© nly (c) Concessions and tax-holidays for hi-tech
) 31 and 3 startup companies
only
(d) Special privileges for certain categories
J-GAT of Non-Banking Financial Institutions
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€nomination of daroga-

j d 1n
The daroga system CRUCE
Madras in 1812.

The daroga
district magistrate.

W as naminﬂted py the

3

¢
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Ct the correct answer using the code given

hgort
[?1]

”J) 1 and 2 only

2,3 and 4
1,3and 4
1,2 and 4
rmed ander the
ding Orders) Act,

establiSMEnt in

1946 shall not apply to 2B
ate Grﬂvernment

1:["F-‘S;:le«::‘ls of which the Apprnpri
is that of the State of :

(a) Madhya Pradesh
(b) Gujarat

(c) Kerala

(d) West Bengal

r is expressly excluded fr

10y :
. An ‘out-worke
which one of the

definition of ‘workman’ under

following legislations ?
The Factories Act, 1948

L
. . K
::dEdmn igh,© ol
N fte “Ohtingey " Koy i
Rareit § atter the the o W,
1824 ? anjs HF;II hﬁn:ﬂ A
Car., t t )
F b T TR
I (a) Rayanna ul"n Ii“'lin:;"h I:;’n r,
Tl (b) Tipy Gay A th, th, ; i;
LIRS (c) Jagbandhn By,
u h
el | & Dukaﬁbala
Dey,;
102. The First Ing;
Pl‘imarl.l actgﬁ
(@) Women lapg ywith .ES Ay
(b) Livin e " Pag
S condit;, %
C .
gid labﬂur foactury
Eextile Worke,. wﬂ"}ter
S 5
103- Where was Azad Hlnd .
Singapore Wj (1 A)
Tokyo fﬁrmecl 9
Berlin
104.
:n 1;27, Lord Birkenhey,
or dia . >
< 4, appointed 5 Secretary
embers to eﬂquir . 0 Inltt of St&t
between the Indj € into g, €e of thy g
B o et oy, “elation .
to m the N
more satisfac . ake Su Bl‘itig
e omic i t-OI'y adJUStment ggestl'()ns fh
and Brit ;e at.IOIlS between th of the €Xist; 5
I'lL1S Indj e II] : Ng
- Was nof a memb = dmong ¢ e St tes
e mber of the Comm't e follomng
: 1ttee ?

(a)

(b) The Plantations Labour Act, 1951

(¢c) The Contract Labour (Regulation and
Abolition) Act, 1970

'(d) The Inter-State Migrant Workmen
(Regulation of Employment and
Conditions of Service) Act, 1979
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+ that 1S
X is the smallest na nral nurﬂbFT’ tna
..h“ﬁle by both 24 and 30, whereas v 1S tn€
“Best ngtur:d AumbeT that divides both 29
N 100. then ¥ hat 1S the value ofx—Y 1
"' -
)
r 116
b 124
J
¢ 128
{
d) 132
5100
e unit place of 2 .

"y
(b) 4
() 6
@ 8

A runner compl

She changed her
of the

of the
second, third and th

distance such that

speeds
e fourth quart

quarter
in

by 2 : 3 : 4:95 respectively.

then (appreximately) did she complete the las’
quarter of the race ?

(a) 32 minutes

(b) 31 minutes

(c) 29 minutes

d) 28 minutes
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R the following information :

—

Units I\ Rate per

Particulars ,
unit (<)

—1

”’l e

1)- —

A . = .

\ Y1 Inventory 1n 200 \ L 5_ 1

N

L% hand \ - 1‘. ,lb
‘inu,_ Y 8 | Purchases 1100 1 \

“'Jilquqr}.’.@ﬁ Purchases 300 0 \ !

"]Eirl Elr};:ﬁ Issued for sale 100 — \ \‘ o

Wh uaﬁrh};g Issued for sale | 200 | = \ ‘Tt

Il%:::h one of the following 1S the wvalue of
In?tntﬂry on January 31 under perpetual 1.
[FIFMGTY system using First-In-First-Out \ |
{":l} 0O) method ? by
( < 6,700

( } < 8,700

(ﬁ) ¥ 10,700 =
9 = 12,000 Ve

fﬁllnwing is the information relating to a club
Or the year ending 31.03.2022 :

Subscription outstanding as on < 16,000
31.03.2021 =

Subscription outstanding as on < 18,000
31.03.2022

Subscription received in advance ¥ 12,000
as on 31.03.2021

Subscription received in advance ¥ 11,000
as on 31.03.2022 :

There are 70 members each paying an annual
subsecription of ¥ 1,000. Total subscription

received during the year 2021 — 22 will be :
¢ (a) ¥ 67,000

(b) ¥ 71,000
(c) < 69,000
(d) =i, 000

Reporting on fraud is to be made by an auditor
to the Central Government when the sums

involved in the fraud :
(a) exceed ¥ 20 lakh

(b) exceed T 50 lakh
(c) exceed T 75 lakh

(35-B)

(d) are ¥ 1 crore or above




